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SEILA 1,400,000 1,400,000 1,400,000
SFEIA 1,400,000 1,400,000 1,400,000
FHEULA 250,000 250,000 250,000
EHHtEULA 250,000 250,000 250,000
BEREHEEIA 20,000 350,000 100,000 2,350,000 840,000 3,660,000 3,660,000
FERFREEEINA 20,000 350,000 57,000 427,000 427,000
FOE AT IREBIEINA 20,000 350,000 57,000 427,000 427,000
T XETA HENEURA 100,000 2,350,000 2,450,000 2,450,000
X ETHF @B E UL A 100,000 2,060,000 2,160,000 2,160,000
FEBERELZTEREFHIETIA 290,000 290,000 290,000
HEIZEESFILA 783,000 783,000 783,000
7 —REEEIEULA 401,000 401,000 401,000
A BRI=THHVESEIA 382,000 382,000 382,000
TEEEULA 4,750,000 69,000 4,819,000 4,819,000
MEFEZEEIA 69,000 69,000 69,000
ZERFEZEEINA 69,000 69,000 69,000
HXETH ZEEEUNA 4,750,000 4,750,000 4,750,000
MXETFZEEINA 4,750,000 4,750,000 4,750,000
FEIA 36,000 36,000 36,000
FIAFIRA 36,000 36,000 36,000
A EERAFILA 20,000 20,000 20,000
ZDMD YA 400,000 400,000 400,000
MU A 400,000 400,000 400,000
HURA 400,000 400,000 400,000
EEFHINAGO) 6,590,000 350,000 100,000 2,350,000 840,000 105,000 250,000 10,585,000 10,585,000
AEEXZH 3,667,000 3,667,000 3,667,000
izd=F et 5 -Aun! 2,677,000 2,677,000 2,677,000
BEE5XH 492,000 492,000 492,000
ETERAIEX L 498,000 498,000 498,000
EEELN 1,139,000 3,340,000 70,000 105,000 4,654,000 4,654,000
HEREERREXD 310,000 1,012,000 65,000 40,000 1,427,000 1,427,000
= RIEHZH 140,000 32,000 5,000 177,000 177,000
% EEMHXH 310,000 40,000 350,000 350,000
& HEEZH 126,000 126,000 126,000
£ BB EZ N 130,000 130,000 130,000
Z EHEZTH 50,000 673,000 723,000 723,000
ES WREXBEXZH 20,000 20,000 20,000
% ENRI & AR E X H 59,000 59,000 59,000
4% BIEERE X 36,000 2,000 30,000 68,000 68,000
X | &BBEXH 50,000 50,000 50,000
XBEREXH 1,469,000 27,000 1,496,000 1,496,000
M H 3,000 19,000 3,000 3,000 28,000 28,000
EHEXN 2,048,000 350,000 300,000 2,698,000 2,698,000
REXBEZ N 5,000 20,000 25,000 25,000
HEMBREZ 100,000 100,000 100,000
EHREHEREXH 150,000 200,000 20,000 370,000 370,000
= FNRI AR E X H 40,000 40,000 40,000
m EEEXZH 100,000 100,000 100,000
BIEERE 200,000 80,000 50,000 330,000 330,000
SEEXT 100,000 100,000 100,000
XIERFTEXH 801,000 801,000 801,000
TDMDOEFFTEXZH 801,000 801,000 801,000
FHHZH 25,000 25,000 25,000
RIEFHZH 105,000 105,000 105,000
EEafXH 430,000 430,000 430,000
MR H 30,000 30,000 30,000
HEEXH 162,000 162,000 162,000
EEREEXH 63,000 63,000 63,000
M H 7,000 10,000 17,000 17,000
M H 7,000 10,000 17,000 17,000
HEAZEEERENPEEEE 1,766,000 1,766,000 1,766,000
— R EERNEEEE 800,000 800,000 800,000
—REERNEEE 800,000 800,000 800,000
BRI ITHWNELNEEEE 966,000 966,000 966,000
THEXH 7,000 7,000 7,000
PEEZH 7,000 7,000 7,000
Bh R & 32 750,000 50,000 800,000 800,000
B & X H 750,000 50,000 800,000 800,000
B X H 750,000 50,000 800,000 800,000
SXEFIHEQ) 7,611,000 350,000 300,000 3,390,000 1,836,000 105,000 13,592,000 13,592,000
SEERFHEFINZEL(3)=(1)-(2) A 1,021,000 0 A 200,000 A 1,040,000 A 996,000 0 250,000 A 3,007,000 A 3,007,000
it
B
L2
i REEREDAL@
% X iE /R A
1z
£
B
N T rEERERER®
MR BREEEEINT EE8(6)=(4)-(5)
HEBITEEIRFILA 3,270,000 3,270,000 3,270,000
0%) HSBUERIRLEEARIRA 100,000 100,000 100,000
N REBENEIL A E R A 100,000 100,000 100,000
o | HEAEI SRR B ERARRA 3,070,000 3,070,000 3,070,000
e Y —EARSEBEAERA 250,000 200,000 1,040,000 996,000 2,486,000 A 2,486,000 0
%13 _ TOHMDEEIRAET) 3,520,000 200,000 1,040,000 996,000 5,756,000 A 2,486,000 3,270,000
= [P TEARDERARZH 2,236,000 250,000 2,486,000 A 2,486,000 0
e %@ﬂﬂ@iﬁm ZkAHXH 300,000 300,000 300,000
2l BEFIRIEEATEXH 300,000 300,000 300,000
”é T DD TEB) 32 Hi5H8) 2,536,000 250,000 2,786,000 A 2,486,000 300,000
ZTDMDFHE®INZEEH(9)=(7)-(8) 984,000 200,000 1,040,000 996,000 A 250,000 2,970,000 0 2,970,000
FliEE&E X H00)
L ERINEETRS U 1)=(3)+(6)+(9)-(10) A 37,000 0 0 0 0 0 0 A 37,000 0 A 37,000
AR EEEE(12) 44,359 1,026,775 1,071,134 1,071,134
SPEXFILEEERSUD+12) 7,359 0 0 0 1,026,775 0 0 1,034,134 0 1,034,134




